106 #ERF 1D EFARBED CRARBECRFEYHE

2,952 % > ARtk 0 5o 1 E2 e
S CREFEPFRGFAED A FEHL)
(=) BREGE ~ 2R 2T TRIFETE FR it
BOREFILEE C RBE G Y B2
HEMAA LS FRERER (S RRR TR
(Z) TR AGFEHEEA
L1 EB&NE (ZAARE ) ABER - FHLI P RFRL
AR R R AT PR R LR AR T
BEHIMEZT 2T O FURER Y P RETERFT EES -
S ER TP (ZHED 2 H o E CREE) LA

2% g AP EEE-RER A FP Ak o

Jui

kil
R EFI NI R A RE A
CHEHAR AR I06E1 Y 1 PR 106F 120 31 pHEF -
AR DR AT R SRR B R Ty &AM
AT R AL Aokt B E IR TRE 2 AR PR
MR A HEEER ) NEB2A R EREST

j=q



I8 * B i £ i
rk’kzi/%gﬁﬁ/ﬁ‘&
T3 ERNE ??Z’;f_i&ﬁ
LT e |7 RAFZG A =~ 500, 000 =~
IR PR g oz | 20000
RIETEF R L5 R R (S
e i RRER s 1 0% ) o
AN N A
B ACE ) ~ AL S
B 7T 8N T
TARME R P~ A5
L e L | BFTNPEE R R D
< ﬁ@& = N ~ B _
TSN s mers s | 610, 020 & 610, 020 =~
#
- %ﬂf?‘ﬁ@ﬁ MR
—?i’gb'u ‘?HPR«?F— 7
* ‘ﬂﬁ‘)\'éﬁﬁ \'T%E.
e b -
" 1,110,020 =




s 2 106 FRFTIDERC-[AE R ELEL T A

2 WA g E R PE LA L gy (=)
f6% 2RIFHI MR 100 & B ¥ Imis
fs% 2 = 7 104 30, 000
#F %24 -30000 =~
= # 105-500000
e 15 2 b R (R (E S 2F ps Hom a2l
e ¥ 2 = £ 104-83520 fo® 2 % f}%lﬁ'ﬂk 2 A BY IR Y3 % 490, 144
fs & 2 =7 105 106 # B £ 15 & fxcX 40 & 5 mpisd 246, 966
= # 104-50571
5% 2 B EST 7 EO G A B
fo &% L = 2 105-158682 106 ki ?I’i = %%g%pﬂ g 206, 495
fs% 2 =7 105 106 # k5 i) 4 5 1% 17,700
s 8 i= 7 105 TR EEE L 21, 546
fsx 2 =7 105 106 & & i% & 1 Bie s & 75,000
= # 104-25693
s | 4‘4*‘*(1;31' J"&'H;Lfl?
% 2 O L 9+ LED E% %1 4% 72,100
£+ 1,159, 951
B 106 # PiHr 105 2 B w A £ A3 5 A7 0% 1,110,020 ~ 0 ihE R £
B A 1,110,020 %0 Gk r B &R FIBFKATR 0 106 R 1 v 4

EfEEETI0TERR:HE &

4

FHFEE o




